Droites Numériques (E)

Complétez cette droite numérique par les nombres manquants.

Différence commune:

|
1116

| |
1106 1101

! ! !
4996

Différence commune:

|
4966

|
4951

| | |
7822 7747

Différence commune:

|
7372

|
7297

|
7147

! ! !
6332 6257

Différence commune:

| | |
6182 6107 6032

1 1 1
9524

Différence commune:

| | |
6246 6196

Différence commune:

| | |
8458 8448 8438

Différence commune:

! ! !
8340 8290

Différence commune:

| |
8190 8140
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Droites Numériques (E) Réponses

Complétez cette droite numérique par les nombres manquants.

| | |
1146 1141 1136

Différence commune:

| |
1131 1126
-5

|
1116

!
1106

|
1101

| | |
4996 4991 4986

! !
4981 4976

Différence commune:

-5

|
4966

|
4951

| | |
7822 7747 7672

| |
7597 7522

Différence commune:

-75

|
7372

|
7147

| | |
6407 6332 6257

Différence commune:

| |
6182 6107
-75

1
5732

| | |
9574 9524 9474

| |
9424 9374

Différence commune:

-50

| | |
6296 6246 6196

Différence commune:

| |
6146 6096

-50

| | |
8458 8448 8438

Différence commune:

| |
8428 8418
-10

! ! !
8340 8290 8240

Différence commune:

| |
8190 8140
-50
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